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498 K

_ 3
AH,=| C,, (CHT=4x10"J
Q=AH=AH,+AH,+AH,=30kJ
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: TAIAH, (H,0,8,298.15K)=-241.818kJ-mol,Cy,,,(H,0,g)
=45RZIN T 5 R DL S AR A FRAE S A
H,(g)+1/20,(g) — H,0(g)
%R PRSI S BIIR R 4298.15K, K 7149101325k Pa, A 57 7]
LR T B & T 34T R IET, R BL R R A B B R it 7
FIW. AU. AH
(R, EEKRMNM; (2) Z#dE %ﬁiﬁ\“

1 0, dp=0,W’=0 2
() @=0, dp- T,=298.15

Q=AH,_= AH,+ AH,=0
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1. FFR AR : Wi=nRTIn(V ,/Vy)
AU=0 Q1= . W1=nRT11n(VB/VA)
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10 48 : W,=nRT,In(V/Vp)
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ii, \A%: W4= AU4 =nCV’ m(Tl-TZ)

W=W1 +W2+W3+W4

=nRTlln(VA/VB)+ nRTzln(VC/VD)
T/Ty=(Vc/Vg)l  Ty/T=(VA/Vp)!

V/Vy=

Vy/V. V./Vi=Vp/V,
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